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QUESTION 1

An architect is designing Active Directory (AD) permissions for a Horizon environment that will use pre-existing
computer accounts. The AD Security Team has restrictions about the use of service accounts. What two sets of
minimum permission are needed to delegate to an AD service account? (Choose two.)

A. Create Computer Objects, Delete Computer Objects

B. List Contents, Read All Properties

C. Read Permissions, Reset Password

D. Write Permissions, Change Password

Correct Answer: BC

Reference: https://pubs.vmware.com/view-51/index.jsp?topic=%2Fcom.vmware.view.administration.doc%2FGUID-
ED99E026-5D70-4ADF-B4BC-A64A3386E10C.html

QUESTION 2

A company wants to deploy Windows 8 Horizon desktops for end users with the following goals:
1.

Fast provisioning

2.

Fast guest customization

3.

Minimum storage space

4,

No user profiles on the C: drive

What must be implemented to meet these requirements?

A. Use Horizon linked clones with persistent disks.

B. Use Horizon full clones with persistent disks.

C. Use Horizon full clones with User Environment Manager.

D. Use Horizon instant clones with User Environment Manager.

Correct Answer: D
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QUESTION 3

An architect has been asked to evaluate the existing Active Directory infrastructure to implement a Horizon 7-based
virtual Desktop infrastructure. The Active Directory Admin helped the architect create the attached exhibit related to the
current Active Directory.

B )

T

Parent Domain
A

.‘x. Stand-Alone
Domain

Child Domain A

The customer specified these requirements:

1.

Extend the same Horizon 7 infrastructure to a 20 User Organization from Stand-Alone Domain.

2.

Two users from the Stand-Alone Domain must have Administration access to Horizon View Infrastructure.

The architect has been asked to recommend Active Directory changes with a constraint of least possible trust
relationship and credential duplication to meet the additional requirement.

Referring to the exhibit, which two recommendations would enable Active Directory infrastructure to meet
requirements?

A. Configure Secondary credential for View administration users only.

B. Establish two-way trust relationship between Parent Domain A and Stand-Alone Domain.
C. Establish one-way trust relationship between Parent Domain A and Stand-Alone Domain.
D. Configure Secondary credential for View Desktop users only.

E. Configure Secondary credential for View Desktop users and View Administration Domain.

Correct Answer: AE
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QUESTION 4

The IT Team for a regional government organization wants to implement a VDI system using VMware products. These
design requirements were specified:

1.

Automated Horizon RDS Farms and App Volumes to deliver a few Windows applications to iOS and Android devices
2.

Horizon RDS Farms to deliver a specialized 3D mapping application

3.

Stateless Windows 10 Horizon Instant Clone desktops to task workers, and Horizon Windows 10 desktops with a
persistent data disk to power users What is the minimum number of Master Image VMs to support the design?

A.3
B.2
C.4
D.5

Correct Answer: B

QUESTION 5

Which is a design decision when architecting a Workspace One on-premise implementation supporting Mobile Single-
Sign On for iOS devices?

A. Decide what level of trust to use between the Active Directory Kerberos realm and Workspace One\\'s Kerberos
realm.

B. Make sure that the Mobile applications that are planned to be managed by Workspace One support the Kerberos
protocol for Single-Sign On.

C. Decide what namespace will be used by the Workspace One portal. This will be used for end-user access to the
portal. Decide which domain is to be used as the Kerberos realm.

D. Decide the namespace to be used by the Workspace One portal. The domain chosen will also be your Kerberos
realm.

Correct Answer: B
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